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Name: Datum: Ergebnis:
(6x+ 3)(2x* —3x— 2)+ (3x —2)(2x — 4) (4x + 3)(3x% — 2x— 2) + (6x + 4)(2x + 4)
3x+ (1 - 6x)(5x — 4)(2x— 1) O —4dx+ 1)(x+ 6)+ 1 X 6x+ 6
o —x+3)6x—1)+4x2x+ 1 (43 + 6x—3)(5x+6) +2 x bx— 4
(5x° = 5x+ 6)(6x— 6) — 3 x dx + 1 (x+3)x— Ddx— 1)
(x — 4)(6x + 4)(x + 5) (dx — 2)(6x° + 5x + 2) + (5x + 1)(5x — 4)
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Name:

(6x+ 3)(2x%> = 3x— 2) + Bx = 2)(2x — 4)
12 — 6x% = 37x+ 2

Ix+(1—-6x)(5x—4)2x—1)
—60x° + 88x° — 34x + 4

(& —x+3)(6x— 1)+4x2x+ 1
6 — T? + 27x — 2

(5x2 = 5x+ 6)(6x— 6) — 3 x 4x + 1
30x° — 60x2 + 54x — 35

(x—4)(6x+4)(x+5)
6x° + 10x% — 116x — 80

Datum: Ergebnis:

(4x + 3)(3x% — 20— 2) + (6x + 4)(2x + 4)
1223 + 13x% + 18x+ 10

(o —4x+ 1)(x+6)+1x6x+6
X4+ 22— 17x+ 12

(4% + 6x—3)(5x+ 6) +2 x 6x— 4
20X + 54x% +33x— 22

(Gx+3)(x— D(dx— 1)
12 = 3% — 12x+ 3

(4x — 2)(6x° + 5x + 2) + (5x + 1)(5x — 4)
24x3 + 33x* — 17x— 8
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